Directions:  Each of the following pages provides an example of compound reasoning.  Construct the corresponding rationales.
 

1.  I think Ricky drove home.  His car is gone.  That’s not good.  That guy was blitzed.


2.  How can you expect me to know anything about the civil war?  It happened before I was even born.  You just ask me stuff like that to make me feel stupid.


3. People typically leave lousy tips at restaurants they’re not going back to.  After all, what’s the incentive to leave a good one?  That’s one reason some restaurants attach a mandatory 15% gratuity.   Also it’s because big groups usually live smaller tips percentage-wise than small groups.


4.  I don’t have to help you.  I didn’t ask to be brought here you know.  I would have gladly helped you if you just told me what was going on.  But you tricked me, and that really pisses me off, so forget it.  








5.  You know it seems like every time the Giants get rid of somebody they go to a different team and start doing better.  Look at Ortiz, Hernandez, Muelller.  They’re all having great careers now.  I think Giants management just doesn’t know how to assess talent.  That, or maybe they just don’t know how to motivate people. 


6.  Traffic jams aren’t always caused by accidents.  A lot of times they’re caused just by people who weave in and out of traffic trying to get ahead.  It makes people behind them keep applying their brakes to give them space, and that sends a ripple of braking down the whole line of cars.  The weaver gets ahead, but everyone else goes slower as a result.









7.  Convicted sex offenders should be castrated in my opinion.  That’s what they deserve, and that’s the only thing short of death or life imprisonment that is going to prevent them from repeating their crimes.  People who think castration is too extreme just don’t understand how terrible rape and child sexual abuse really is.  Castration doesn’t ruin the life of a sex offender.  It actually makes it easier for him to live within the law.  But the victim of sex abuse is scarred forever. 


8. Yesterday I saw Ferdie in the mall and I went right up to him and was about to give him a big hug and he gave me this weird look like, “Who the hell are you?” And then I realized that it wasn’t him at all, but someone who looked almost exactly like him.  I mean exactly. He could have been his twin brother!  And then I thought, what an idiot I am, because I knew he couldn’t have been Ferdie since Ferdie is fighting in Iraq.  Anyway, this guy’s name is Ferdinand!  Can you believe that!  We’re going out tonight.


9.  


10. 


11.  
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P1:  If x deceives y regarding situation z, then y is not obligated to help x with z.


P2:  If x deceives y, then y is upset with x.
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P1:  If vehicle x collides with vehicle y, then traffic jam results.


P2:  If multiples drivers x are forced to slow down by y, then traffic jams occur.


P3:  If x reduces the space between moving objects y and z, then y is forced to slow down.
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Peter is not obligated to help Bob.





Bob deceived Peter in trying to get Peter to help.





Bob took Peter somewhere without informing Peter what was going on.





Peter is upset with Bob.





Bob deceived Peter.





Traffic jams occur.





Vehicles collide.





People are forced to slow down by


reckless drivers.





People who weave in and out of traffic.





Reckless drivers reduce the space between cars.








